MATH 103 ExaM #4 KeY (FALL 2012)

la v/32=2v2
1b /54w3y® = 3wy /2y?

e 7’3_\/ﬁ_r\/7
TN

1d  Vul = u Vul = udu

le 4V18r —/72r = 49 - 2r — /36 - 2r = 4 - 3v/2r — 63/2r = 12/2r — 63/2r = 6/2r
2a (V6+Vv2)(V3-v2) =vVI8—VI2+V6—-V4i=3V2-2V3+6-2
2b (V6—-v2)2=(vV6—-v2)(vV6—-v2)=6—-V12—1/12+2=8-2/12=8 43

ga 8 _ 8 _ 4 _4 Vo_4/6_2v6
V24 2v6 V6 V6 V6 6 3
1 1
ah 3+vb 3+

3-vb 3-vb 3+vh 9—0b

4a From 5k — 3 + 4 = 0 we obtain v/bk —3 = —4, which has no solution since a square

root is never negative. Solution set is &.

4b (VI—2)0=(@+3)? = 9—z=2*+4+624+9 = 2°4+T72=0 = z(z+7)=0 =
x =0,—7. But —7 is an extraneous solution, so the solution set is {0}.

4c Squaring both sides:
v —3y+3=@w—-17 = ¥ -3y+3=9y"-2y+1 = y=2.
Solution set is {2}.

5 V—27-vV/—3=iV27-iv/3=12-vV/27/3=—-1-1/81=-1-9= -9
6a 9—10i+5+3i=14—"7Ti

6b (4 + 3i)(—3 — 5i) = —12 — 20i — 9i — 15> = —12 — 20i — 9i + 15 = 3 — 29i



241 141 242 41+ 2 1+ 3¢ 1 3.
6c - = — 5 — =—-+ -1
1—¢ 144 144 —4— 42 2 2 2

6d ™ = (i)' = (1) (—i) = —i

7a Write as 22 — 22 — 4 = 0, so

C—(2) £ /(22 -4(1)(-4) 2£v20 2+2V6
v 2(1) =—g =g —lxVvs

7b Write as 922 — 62+ 7 = 0, so
 —(-6) £ /(-6)2—4(9)(7) 6++/=216 6+6iv6 1 6

z = SRR
2(9) 18 18 373

8 Not a function. Domain is [—5, 5] and range is [—2, 2].
9 Is a function. Domain is {x : 32 — 1 >0} = {x : 2 > 1/3} = [1/3, 00).

10 f(-2)=3(-2)—1=—-7 and g(—2) = (—=2)2 — 5(-2) = 14.



